Subject: Re: POLY_FIT gives wrong answer !
Posted by davidf on Thu, 11 May 2000 07:00:00 GMT

View Forum Message <> Reply to Message

Henk Schets (Henk.Schets@oma.be) writes:

> OK, so if you think I am wrong, why is it that when | just plot the data with the
> array as a subscript, the outcome is the same as if | made a totally new array ?
> |sn't this an indication of some bug in poly_fit ?

Uh, oh. Now *I'm* confused. | thought the results were *different*.
(And I still do after reading the original post again.)

Oh, well, I'll tell you what. As long as you have the thing working,
I'm willing to put this into the category of "One of Life's Mysteries"
and drop the subject until next time. :-)

Cheers,

David

David Fanning, Ph.D.

Fanning Software Consulting

Phone: 970-221-0438 E-Mail: davidf@dfanning.com

Coyote's Guide to IDL Programming: http://www.dfanning.com/
Toll-Free IDL Book Orders: 1-888-461-0155
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